Name: Date:

Teacher: Class:

Multiplication 516

Why can 't you tell a joke on ice? Because the ice will crack-up!

Remember to carry any tens into the next column.

1. 3’122 2. 1’233 3. )]:90:73’ 4. 2,82:73) 5. 1,843
6 1’593 7 2’272 8 2,65; 9 2,922 10 i,84£;
11. 1’403 12. )6(’362 13. )8(’79:3 14. )9(’633 15. )9(’753
16. )9(’21:; 17. )7(,862 18. i’llg 19. )2(,4849 20. )6(,81(;
21. 3’808 22. 1’32; 23. 3’942 24, 2,602 25. 3,65;
26. 3’922 27. 2,8497) 28. i’402 29. 2,362 30. 2’79:;
31. 2,633 32. 2’75?;) 33. 2’212 34. 1,862 35. i’llg
36. 2484 37. 9,200 38. 5032 3. 7,795 4. 5332

x 9 x 8 x 8 X 6 x 5
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Answer Key Date:

Teacher: Class:

Multiplication 516

Why can 't you tell a joke on ice? Because the ice will crack-up!

Remember to carry any tens into the next column.

1 8,120 2. 7,231 3. 1,907 49,827 5. 1,848
x 3 x 9 x 3 x 3 x 2
24,360 65,079 5721 29,481 3,696

6. 4,599 79,273 8. 5,657 9 3,926 10. 5,849
X 7 X 2 X 2 X (5) X 7
32,193 18,546 11,314 23,556 40,943

1. 1,403 12. 6,366 13. 8,793 14. 9,634 15. 9,754
X 8 X 5 X 7 X 4 X 3
11,224 31,830 61,551 38,536 29,262

16. 9,213 17. 7,868 18. 4,118 19. 2,484 20. 6,810
x 5 x 8 x 9 x 9 x 7
46,065 62,944 37,062 22,356 47,670

21. 2,809 22. 7,327 23..2,942 24. 8,600 25. 5,657
x 9 x 7 x 5 x 2 x 2
25,281 51,289 14,710 17,200 11,314

26. 3,926 21. 5,849 28. 1,403 29. 6,366 30. 8,793
X 6 X 7 X 8 X 5 X 7
23,556 40,943 11,224 31,830 61,551

3. 9,634 82. 9,754 83. 9,213 %4. 7,868 354,118
x 4 x 3 x 5 x 8 x 9
38,536 29,262 46,065 62,944 37,062

6. 2,484 37..9,200 38. 5032 89. 7,795 40. 5332
x 9 x 8 x 8 X 06 x 5
22,356 73,600 47,456 46,770 26,660
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